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Economics Paper: I (Microeconomic Theory)
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Time:3 Hrs. Marks: 100

NOTE: Attempt any FOUR guestions. All questions carry equal marks. Student must follow the
English Version of the questions Paper. Urdu Translation is provided only for additional
help to understand the questions.

-d oq ; L -- ilr SA -ql,rtf )t r,q tJ /: -:- !
Q.1 Compare and contrast Cardinal and ordinal approaches of consumer behavior.

Prove with arguments that which one is more realistic?

a / !i{.ze --j tt,.,,t'6 :;v et Ji ( *Pt sf ;,,t.- | 1J,t,,i, 1f --,., L i,t,
t764&o:!;.-Pt

Compare and contrast Traditional and modern theories of cost with suitable (25)
diagrams?

-dd,' d,.t t/ rl,-ir@ e* +u rt $ t:, +;.t { g yt -E B -,1t" r / lt r
Explain main features of Cobb - Douglas Production Function? (25)

-5ov*?e,-,r,v t!J,*JgLf t=t :r/ 1)tr
How we can derive negatively and positively sloped supply curve of Labour with (25)
the help of indifference Curves?

:6 )nr *, t b t)r t gV. t g 4t c,)V. t,a? h r, 7 c--, t fi ) 
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x L P :r, / ) t r

(15+10)

:r/ jtr

Q.t.

o.3.

Q.4.
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Q.5.

Q.6.

Q.7.

Explain low cost price leadership Model of the Firm with the help of diagram? (25)

-d,pv, "-, u { 1,,( n! J*, i/ igr, f t ai,v, { za / )t r
Explain Nash Equilibrium related to Prisoner:l"2Ti 

)u , , t / tr _ .n,(, 
(25)

-do,O,t! O;fi jv g, z-.,1. L)b,7t r t! UN :t / lt r
Write Comprehensive notes on any TWO of the followings.
(a) Envelope Curve
(b) Monopolistic ComPetition
(c) 3'd Degree Price Discrimination
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NorE: Afrempt any F0IJR guesfions. Att questions carry equal marks.

('-tt

(,/
(()

(,

(,Philips curve

Derive Tobin's q. Describe how it is related to investment in an economy.
Using Tobin's q, discuss how investments in stock markets are
investments in real economy.

(12%)
related to (12%)

t 7 L,t t{ +g $ 
"17 

g, 
1J } (tfi.1 

t -s7,/:;t {g.j (-tDzz/ Jt y
-4fi u f d tJ'i ilJ / <tr tJ J-,tJv tt 1J fi 

"t7 
1J 6 i 4 rp,,-,: L {u i (rr)

You are given the following information about the econom y. _7Otetp j-;ar*rP IOS(, ,z7ltr

e 1 write short notes on the rorrowi# 
uLJ; L-'>t)trru-t/1Pirtlz-6{.r"ri

-,,{.>}rrJi4t:r/ jtr
i)

ii)

iii)

iv)

v)

Q.2 a)
b)

Q3

Permanent vs. Transitory income

Balanced budget multiplier

Okun's Law

Measures of money supply L.tL4tlery{a

dr|6,6;OUUJY

Qil,u.ct:v
,ur{,t

iv*

National lncome
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The natural rate of unemployment is 0.04, Okun's

Philips curve relationship is tt = n" - 2 (u - 0'0a)'

a) Calculate the full-employment level of output in

each year ? F.5)
b) Calculate the growth rate of full-employment

output each year. 9.5)
c) lf expected inflation was 0.04 for all four years,' 

what was the inflation rate each year? (7.5)

a) What is meant by the 'herd behavioi in consumption theory?

bi Explain the salient features of Keynesian Gonsumption theory'

t q-:r 7{+(herd behavior)' lt Jl" tt4 ol (Jr

-cl./,pv, t! Jv,,o olj L.d 4 I L(Kevnes)/ (v

Law is ihat (f -Y)/ Y =2(u-u), and the

Q.4
(12.5)
(12.5)

'elJtv

Q.5

Q.6

Q.7

-4.t,-,v.a,.>fl A,*, { 6)v tt Gitt

-,j,s:volf ,*vtY Q

$,,{J&/u } L)v./t),zo.oqJv tiQa } e ;' /' <o

what is Marginal product of Lab r? How is MPL related to labor demand and distribution (25)

of income?

r + f {.- { $ 3't 
"t { t! rt :t t: 7 (gt rt a :r 7{ e tt tr xE' 

^! 
6 ttt / zs / J r

a) Derive the Solow Growth model. . ^--..:L -^-r^, 
(12 5)

[i oir.r.r l.,"aifferences in rlew Crow6 theory from the Solow Growth model. (2'5)

a1-./;;t I 
"y' 

fl r(;tr :a/ Ju'

4/::v i v Ll af 6 "il i(i 4f L I r(=
a) what is crowding out? ln t event of a substantial crowding out, discuss whether (12 5)

fiscal policy or monetary poii, will be more affective (2'5)
b) What is iniide lag vs. 

' ' 
ag? Explain the debate regarding the use of discretion

vs. rules in monelary

r7n{-,,t/y dingout)'ttlsitr'l(;tr t}')rr
-1./,*t" r/i:i*ttt-fitiYt(v
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Economics Paper: ttl(Mathematical Economics)
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Time: 3 Hrs. Marks: 100

Q.l. a)

Q.z.

o.3,

b)

Nofe; Attempt any FO'R guesfions. scientific calculator is allowed.

Differentiatr the following' (12)

t Expouential fimction and Logarithmio Firnction

il" Minor aod Co'factor

iiL Linear firnction and Qrradratic fiurction

The demand and supply fimctions of atwo commoditymarketmodcl are as: (13)

Qh-18-3 P1+P2, Qdz:l2tP1-2Pi
Qsr: -2+ 4 Pr , Qsz='2+3 Pz

Find the values of P1 , Pz , Qt and Qz

Explain the concept of relative matdma and minima. (9)

Optimi; the foltowiag objective function ' (8, 8)

Z: -2 xz !y2.
Subject to Y -2x= - |
i. Findthe sitical vatres of x, y, l,and a
ii. use Bordered He,ssian Determinant for second order condition'.,

Write the properties of deterninant of matix with examples. (9)

A producrr who sells a good in two differentmarksts has the following demand finctions:

Qt-3?- 0'4 P1

Qz= 18-0'L P2

And the cost firuction is C = 50 + 40 Q wherc Q: Qr + Qz

What will Le the prioe chargos by the ptbducer and profit of the firm whcn

i. He praotices the Price Discrimination

ii. Without Price Discrimination
Page 1 of 2
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A ' 4. t) Explain tho conccPt of Doivative, Differcntial and Total Differmtial with eximples. 00)b) The Sup,ply firnction of a certain commodity is: (5, S)

Q=a+bP?+Ruz (a<0,b>0) @:Rainfall)
Find

t. price Blasdsity of Supply Eqp.

ti Rainfall Elasticity of Supply Epx.

c) Findthe Total Derivatiw dzldy, (,
Z-4x2-3xy +2y2 ufuCIe x=L/y

A' 5. a) Differeuti*e betwecn the open and closed mod,els of Irontief Input aud Ou4rrt Analysis. ' (10)
b) Fina the Conect level of output for three industies, given the followiug input matrix A

and final demand vecror B. (15)

10,4 0.3 0.1I [r40l
A:10,2 o.z 0.31, g=lzzol

Lo.z 0.4 o.il lreoj
4.6. a) Whatisduatandprimalt (S)

b) Why we use graphic and Simplex Method? (,
c) Consider the following information: , (15)

Min c=36xr+30 X2+40X3
Subjectto 2Xt+5Xr+gX3>40

6 X1+ 3 X2+2Xs 2 50
(xt xz,xg l 0)

Formulate the dual fr-om the abovoprimal. Also ffnd optimal values of objectivc
firnction with the sol,ution natrues ofthe Dual

a- 7- writeshort"notesonanytwoofthefollowing: (Lzl,Lzl)
i. JacobianDeterminant ii. Simplexlvlefhod iiil CobDouglasproductionFunction
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Subject: Economics Paper: lV (Statistics for Economists)
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a l laaa aaa a a aat a a a a a a

Time:3 Hrs. Marks: 100

Note: Attempt any FOUR guesffons. Scientific Calculator is allowed.

Q.r a) Dellne harmonlc mean- How does it dlffEr fiom arithmetic mean? What are its advantages and
disaduantages?

b) A man travels from A to B at average speed of 30 miles per hour and returns from B to A abng the
same route at an avenrge speed of 60 miles per hour. Find the average spoed of fntire journey. (05)

c) Enumerate the rnain sources of errors an Staustics and gve their effects. (05)

d) Discuss empirlcal relation between mean, median and mode. (O7l

Q.2 a) Four ltems are taken at random from a box of 12 ttems and inspected. The box is rejected lf more than I
item is found to be faulty. lf there are 3 faulty items in the box, flnd the probabiltty that the box ls accepted. (10)

bl Explain independent and Dependent er/ents with relevant examples. (05)

c) let A be the event that a family has chlldren of both sexes and B be the event that a family has at
most one boy. lf a family ls known to have (l) three children, then show that A and B are independent events, (iif
four children, then show that A and B are dependent events. (10)

qJ al What is meantby?

(i, Standard error of estimate
fiD Coefficlentofdetermlnatbn
(iii) Rank Conelation
(lv) partlal Correlation
(v) Curvilinear regression

b) A statlstlcian wants to predict the incomes of restaurants using two independent varlables: the
number of employees and the floor area of the restaurant He collected the foltowing data. (15)

Flt a least square equation of income on floor area and number of employees
lnterpret the results
Predlct the income of a restaurant wlth 7 thousand square feet area and g employeer

a) What is binomlal experiment and what are its propertles? (OS)

b) Derive the binomialdistrlbution and find its mean and variance. (05)

c) A certain event ls believed to follow the binomial distribution, ln 1024 samples of S, the result was
observed once 4O5 tlmes and twlce 270 times. Find p and q. (10)

(d) What are the main properties of normaldistribution? Describe brlefly the lmportance of normal

(081

(10)

(i)

(ll)
(m)

q.4

\

lncome (in thousands) 30 22 16 t2 10 7 4
Floor area (000 sC. ftl t0 5 10 8 9 3 2

No. of Employees 15 8 t2 9 t2 7 10

dlstributlon in statistical analysis.

Page 'l of 2
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G5a)DescrlbethedifferentcomPonentsofatimeseries.Desc'lbcvarlousmethodsofmeasrrlngsccular
trend ln a tlme serics, giving *te adv;niiges ana Orsaa'antages for eech' (l5)

'Q,6 al Dlstit€ulrh betwe€n 
(09)

0) Sampli4 dist'lbutlon end protabllitY dltttibutlon

(ll) SampllnB and non+ampllng error

(ill) Standard deviation and standard error

' 
llfe of two mates of bulbs?

c}whatIssY$ematlcsample?De$Gribetheprocedureofdrawlntasystematicsa-mpleof-.n,unlts-(06)

ftom a poPuletiortof dN" untE'

Q,7 Write short notes on any three of the followlng:

L ContlruencY Table AnatYsis

ii. Sket ne$ ahd (urtosls

lll. Polnt and lnteNal estimation

iv. TYPe I and tYPe ll errof

(2s)

Page 2 of 2

b) Compute thc lllotcct or sE Dsrrcr rirrrqw' Y' 'r'v'--

str4ht l;e rcnd to the obserEd tlme s€ries data ln follo{'lnt table' 110)

I
Year lv

I il. ill

98 ?9 106
2000 T2

101 ltli|
1 t2

2001 itl 128 160
2fi2 94

143 135 187
2003 125



UNIVERSITY OF THE PUNJAB
M.A./M.Sc. Part - I Annual Examination - 2O2O

Economlcs Paper: V (lslamic Economlcs)

NOTE: Attempt any FOUR guesfions. All questions carry equal marks,

er. (r) what is tre -. "r,;:#:,;if 
-'/'/'P rtr tl zon 

ir*'o
@) Discus conrreqgcmf and diveryentdimensions of Islmis and sooirliseconom)/, (12.5)

tc-ru,fi/4>Wdktd,)D*,t' (,-r,r) t/ ltr
-,J-/JVl:f4c).ff :W,r,)V( Li{ t Le r ttgtPt (=)

Q2 (r) E:cplain qfuy thc efforts un&rtakco for islamiation of finmsid sJrsfiem in Pakistatr

aaaaaaaataaaaaaraaaar
aa
a'.
3 Roll No..,..,........... :
aaaaaaaaaaaaaaaaaaoa a

TIme:3 Hrs. Marks: 100

could not treet grpeess.

O) Whot mce$mw would you suggpst in thiS regmd?

-,.{ n, 
=V 

f o {,.f tt)t t Lh L i },!,f ;,t,1'y t / 1a 
gy utr, odyft/* r (Jr)

I Lj.L-r*ui{j,,t*;t (=)
Q3 (e). Diurss eonf,ercr be,havior in Islamic Economics.- (b) ltrou' a firm bchavcs in dt Islmric Econourics undq pcrfect competitim.

- -,l/JV ),ti41f ;) Ld,u d,'pv g ilrt (-;)t)
r 70,fiy ter,l,./ 1 i 4t uf opv tJ u.t i L { v,f e)

l5
10

:r/ )tr

12.s

le5
;r/ ltr
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Q,4 Di$suss T,akt as a tool ofFiscal Policy,

-,1tteta;,,_r* L)i L,/g!ht: :r,/ Jtr
Q. S Write a comprthonsiw aoe en fu sryeriority oflslamh Eomoaic Systcm over

Cryltallm,

25

-d o i 0 tr,{t tSJ } tr! Sw: 
L *t;V tl tP t t 

S 
ti) $ t : ot 7

N
:o/ jtr

af (e) &rplsia the cory of coreumgim of Weahh in Islarr? t0
(b) Etaboffie prirciple of ooasrmpion in Islur? f s

-/,feat{riLJt*tLCvttSur (-rlr) zr/Jtr

-[/ct|tprinciptes of Consumption) Jrt L-:r',.t1tVr (=)
(f7 wrib coryrmove rxrrc on ryry Tso of tbo fouoqring: I2s & Ies
(e) Mdim eeholars' contribudon towrue dervelopmem ofEcmomics as a scienpe.

G) fcmmlas iuplicasou of ?hhrf'
(o) Bai salam, Bai Mrnjial rod their implioation in ldaaic Bonldng.

-u{ e}'F ',"{'-;tJ;72" :t/ lrr
tu,|* ) ct t,,t O ;,! -Vv d v,H (JD

,J/ct|.{otrt 1}v L;{: (=)

Ll-/c)V./"lr,,f LUt,l,&JtPt r',,-F6,tU qr)
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Subject: Economics

UNIVERSIW OF THE PUNJAB
M.A./M.Sc. Part - | Annual Examination - 2020

Paper: Vl (Major lssues in Pakistan Economy)

-*tJ :tt+,J Jv I-+ rl-/tP -- t)rv i <-U
Q.1. (a) What are the factors responsible for the energy crisis in Pakistan?

(b) Suggest the possible measures to resolve this issue.

-t-./zi ouil/ /-L,! Lorllr (,-)
Whai is WTO? Discuss its objectives.
Does it provide a wide range of opportunities to developing counhies?

-g fi u / rtv LSr.,tt 6La!-l u! t,t L"WIO" Lni
-,.[,r,u. -7v /1r 7 lv 6, {-fu ,.+i i "vuro" { (=)

Discuss food price inflation.
Suggest suitable measures to resolve this issue in Pakistan.

-J-/JV )'V r-,; tt Sr Lj ) u i z-gr (.rr)

-t/-./ti,.=tt it *l" L Lcf L I q vt ddt (.r)
Write detailed note on TWO of the following topics:

NOTE: Answer THREE guesfions in all including question # 4 which is compulsory.

O,2. (a)
(b)

-J./at tJ t t,t' t; Lt)ty', L[ctj tJ ttdt G;tr)

(b) Human Resource Development

i-t- i
(08)
(07)

:r/ltr

(07)
(08)

t7ir,

(07)
(08)

:r/ jtr

(10+10)

a3 (a)
(b)

Q4.
(a)
(c)

Agricultural Tax
Basic Need Approach

@4r(.>t7$:V.{.y,i ((r) 6;6d',;i;ur (=) ,f ,t,t (,-t,>


